
AX12+ 2 in 1 Gripper Kit 
Kit Assembly Guide  

 
 

VERSION 1.0 
 
 
 
 
 

 

 

 

 
 
  
  Author –Alex Dirks 



WARRANTY 
CrustCrawler warrants its products against defects in materials and workmanship for a period of 30 days. If you discover a defect, 
CrustCrawler will, at its option, repair, replace, or refund the purchase price. Simply call for a Return Merchandise Authorization 
(RMA) number, write the number on the outside of the box and send it back to CrustCrawler. Please include your name, telephone 
number, shipping address, and a description of the problem. We will return your product, or its replacement, using the same shipping 
method used to ship the product to CrustCrawler. 

14-DAY MONEY BACK GUARANTEE 
If, within 14 days of having received your product, you find that it does not suit your needs, you may return it for a full refund. 
CrustCrawler will refund the purchase price of the product, excluding shipping / handling costs. This does not apply if the product has 
been altered or damaged. Please refer to our web site for the latest warranty information. 

COPYRIGHTS AND TRADEMARKS 
This documentation is copyright 2004 by CrustCrawler, Inc. BASIC Stamp is a registered trademark of Parallax, Inc. If you decided to 
use the name BASIC Stamp on your web page or in printed material, you must state that "BASIC Stamp is a registered trademark of 
Parallax, Inc." Other brand and product names are trademarks or registered trademarks of their respective holders. 

DISCLAIMER OF LIABILITY  
CrustCrawler, Inc. is not responsible for special, incidental, or consequential damages resulting from any breach of warranty, or under 
any legal theory, including lost profits, downtime, goodwill, damage to or replacement of equipment or property, and any costs or 
recovering, reprogramming, or reproducing any data stored in or used with CrustCrawler products. CrustCrawler is also not 
responsible for any personal damage, including that to life and health, resulting from use of any of our products. You take full 
responsibility for your BASIC Stamp and robotic application, no matter how life-threatening it may be. 

INTERNET ACCESS 
We maintain internet systems for your use. These may be used to obtain software, communicate with members of CrustCrawler, and 
communicate with other customers. Access information is shown below: 
  
E-mail: Support@CrustCrawler.com  
Web: http://www.CrustCrawler.com  



Preparing to Assemble the AX12 2 in 1 Gripper Kit 

REQUIRED TOOLS 
The following tools will be required to build your SG5/6 robotic arm: 
 

 Phillips screwdriver 
 Loctite thread tightener 

Aluminum Parts: 

 (1) AX – A Gripper 
 (1) AX – B Gripper   
 (1) AX – C Gripper 
 (2) AX Side brackets 
 (1) AX-45 bracket 

 
Nuts, Bolts, Washers Screws & Spacers 
 

 (8) – #4 screws 
 (4) - #2 washers 

 
** The screws and nuts used to attach the brackets to the AX-12+ servo are provided with the AX12+  
      Servo.   
 
 



Installing the nuts to the AX12+ Servos 
Installing the nuts into the slots of the AX12+ servo is best performed by using needle nose pliers as 
shown in the picture below.  
 

1. Place the nut into the slot of the AX12+ and ensure that the nut is sitting straight up and down 
in the slot.  

 
2. Place the lower tip of the needle nose pliers into the corresponding hole the nut was place into 

(only half way ino the hole or it will push the nut).  
 

3. Place the upper tip of the needle nose pliers onto the top of the nut and squeeze gently until 
the nut “clicks” into place. DO NOT FORCE THE NUT OR YOU WILL BREAK THE 
PLASTIC TAB. 

 
4. If you are unsure if the nut is placed correctly into the AX12+ slot, simply look through the 

plastic hole to ensure the nuts opening is aligned with the plastic holes opening.          

 

 
 



1. Remove the standard gripper from the wrist servo of the AX-12 Smart arm (figure 1) .If you 
are re-using the gripper servo, remove it from the gripper assembly at this time. 

 

 
Figure 1 

 
2. Before installing the AX12 side bracket to the servo horn of the wrist servo, ensure that the 

AX12 servo horn is centered as shown in figure 2.  
 

 
Figure 2 

Wrist Servo 

Servo horn 
indicator 

Vertical 
mark 



3. Using (4) #2 (¼”) screws and washers, install an AX12 side bracket to the face of the wrist 
servo as shown in figure 3.  

 
Figure 3 

 
4. Using (4) #2 -1/4” screws and nuts, install the AX12 side bracket to the left side of the AX12 

servo as shown in figure 4. 
 

 
Figure 4 

AX 12 side 
bracket

#4 – ¼” Screw 
and washer



5. Install (4) #2 nuts to the bottom of the AX12 servo as shown in figure 5. 
 

 
Figure 5 

 
6. Install the assembly from step 5 onto the wrist servo of the AX12 smart arm with the servo 

assembly facing up as shown in figure 6. 
 

 
Figure 6 



7. Using (4) #2 (1/4”) screws, (1) pivot set screw, pivot and pivot spacer, install the AX-45 
bracket to the assembly in step 6 as shown in figures 7, 8 and 9. Ensure that the AX-45 
bracket is mounted to the left side of the gripper servo as shown in figure 7.  

 

 
Figure 7 

 

AX-45 Bracket 



 
Figure 8 

 
 

 
Figure 9 

Pivot Set Screw 

Pivot  

Pivot 
Spacer 



8. Install the gripper padding to the (3) gripper assembly parts as sown in figure 10.  
 
Tip: Install the grippers onto the arm assembly and mark the limits as to where the   
          gripper padding can be installed to ensure a clean and neat appearance.  
 

 
Figure 10 

 
 

9. Using (4) #4 - 1/4” screws, install the AX-C gripper to the AX side brackets pem nuts as 
shown in figure 11. 

 

 
Figure 11 

    
 

   

#4 – ¼” 
screws 



10. Using (2) #4 – ¼” screws,  install the AX- A gripper to the arm assembly as shown in figure 
12. Be sure to slide the AX-A gripper all the way to the edge of the slot before tightening the 
#4 screws. Note: If you want just the (2) gripper configuration instead of the 3 gripper 
configuration, simply move the AX-A gripper until it is centered with the AX-C gripper and 
then tighten the #4 – ¼” screws. 

 

 
Figure 12 

     
11.  Using (2) #4 – ¼” screws, install the AX-B gripper to the arm assembly as shown in figure 13. 

Be sure to slide the AX-A gripper all the way to the edge of the slot before tightening the #4 
screws. Install the AX-12 servo wire of the wrist servo into the left port of the AX-12 gripper 
servo. 

 
Figure 13 

AX-A gripper  

AX-B gripper  



 Reference Photos 
 

 
 

 


